B5 AERF70RYS—RERBTA b

BIRTAM - RBEFBR

1BESB:RIITY Y RARTFNRIV TS —

2022.4.5(0K)

e o . 126 = R 1HEB (@INFTYVRKRTILB./C) BiiE 1125 G

&5 T/PIN|vsme| & iRith 16 26 3G|1S|4G 56 6G|2S |76 8G 9G|3S (106 116 126 4S | oy | AVG |IEfE
1| 2 BREF=4 F |20 zui|2, 471 20 |ZIME| 45234 164 221(619(238 200 267(705(202 184 190{576(172 216 183(571| 2, 471(205.91| 1
2| 8 |EH #HEF voss van|2 459| 22 |FER| A|178 186 172|536|187 202 224|613|203 216 268|687(226 161 236(623| 2, 459(204.91| 2
3| 14 |chile MHZEantx wa|2, 393] 40 |FER| A|209 154 171|534|204 184 220|608|213 212 227|652|210 200 189|599| 2, 393/199.41| 3
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